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201 Let2d| 28,900 27,900 1,000
01 AtE22|HI 27,900 27,900 0
SH2AZN U AlEl2Y
200,000 12 1100 & 26,400
SHZY S IR KAL) 1,500
03 A2 EHI 1,000 0 1,000
SHHEAA 2 St=3 1,000
202 O4Hl 4,000 4,000 0
04 =IO 4,000 4,000 0
SHHEAMS A o2l A==t 4,000
206 M=l 3,000 3,000 0
01 M= bl 3,000 3,000 0
SHHEA 24 225 2 3,000
207 A 1OH | 10,000 10,000 0
03 A&l H] 10,000 10,000 0
SNMMEAE S B 10,000
405 AHeHESHI 29,600 39,600 A 10,000
01 XU SEFSY] 29,600 39,600 210,000
SFHEADIREN & 29,600
Mol gstat It et 28,500,000& * 1Ml E 28,500
SHSE2E 300,000& *1HIE 300
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REEESE 300,000 %1 4| E 300
MetMol cHegs X& 42,700 62,589 219,889
201 Lt 20,000 16,000 4,000
01 A2 el 20,000 16,000 4,000
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203 ¥R =&l 4,200 4,200 0
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